
Year 2 subtraction  

 

Example 

6 4 - 5 3 =  

1.) 64 - 50 = 14 (here I have subtracted the tens from the second number)  

2.) 14 - 3 = 11 (here I have taken the answer from the first calculation and then subtracted the 

ones from the second number).  

 

 
76 – 43 =  

 
43 – 12 =  

 
59 – 28 =  

 
 56 – 36 =  

 

 
71 – 43 =  

 
54 – 39 =  

 

 
32 – 26 =  

 
81 – 65 =  

 
97 – 56 =  

 
42 – 38 =  

 
63 – 55 =  

 
57 – 20 =  

 

 
78 – 61 =  

 
99 – 34 =  

 
105 – 65 =  

 
134 – 81 =  

 


